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OPTION A

 Paper : BOT—HG—4016/BOT—RC-4016

(Plant Anatomy and Embryology)

Ariswer very briefly : (any- seven) 1x7=7

Wﬁ’ﬂ (ﬁrarrmwr‘z?r)

: .(a) What type of endosperm is found. in

- xice -?.. TILS -
NI ﬁs R mcltvnzxas C"IRT [T 2

(b} Where form the embryo gets its.

nutrition ?.

wﬁﬁ%?{f@?@?@"m?

(c) : What are secretory tlssues ?

wﬁwﬁw

- {d) What type of fruits do not bear seeds ? -

%«@W%Wﬁﬁtaﬁm»é

() Who proposed ‘hlstogen theory to
explain shoot optical organisation ?
. IS A NI IR A (I TR0 o
#oNite TR o ‘

()~ What is the significance of cambium ?
(AR OleoRmf &
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(g) Write the name of tissue ‘that. helps
hydrophytes to remain floating ?

TG GG (I ﬁaw%mﬁm e
eoif® AT ? :

(h) What is quiescent centre ?

fitm @m &

(i) In which tissue stomata ére located ?
ARG (IR TS Cf»n?ﬂ I 2

() What is tapetum ?

oo & 2

Write briefly : (any four) - : 2x4=8
e @ 2 (Rt sifdoy) |
(a) Polyembryony -
EEERI)
(b) Double ‘fertilization
fa-ftap
(c) Hydathodes
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~ (d) Annual rings
: E l : .-- -
(e) Casparian strip
HrARE
() True and false fruits
S T S
{(g) Phylloclade
() Heterofertilization .

fon. s

Answer any three of the following :

—cﬁ%mzrw Rtz fofabie Ses vy 3

(a) What is self-pollination ? Write briefly

about the advantages and

disadvantages of self-pollination.

-2 ﬁ ? ?‘W“m‘?ﬁ ToiRe Il
SRR R 54 fova 1
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Sx3=15

L

(b)

)

(e)

(9)

(h

Write briefly on heart wood and sap

wood.

wmmwawmmml

Describe cellular endosperm with neat
diagram. '

ﬂﬁmmm T AT il T |

Write the difference between -

- meristematic t1ssue and permanent

tlSSUC
Wmmmﬁwm vnefas; el |

‘Write the difference between apom1x1s

and parthenocarpy.

uﬂ?{’ﬁlﬁﬁw@lﬁﬁ'@mﬁi’r—ﬁ@ﬁﬂff

Write on microsporogenesis and
microgametogenesis.

SRTITHT B 23T ctﬂwqﬁ*mﬁ'«m

Write on cork cambium and vascular
cambium.

6 (IRA T A (FRAnE REe Fn

Write the tissues responsible for
providing mechanical strength

(support) in the higher plants.

THwR T = ﬁﬁawﬁmﬁm
fEe e
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"A,n-sw" an ) -
T any three of the following :

W . 10x3=30
ﬁmﬁzmz%ﬁwm fora ¢ o
(a)_ ' _W.hat‘is me

11'1

- detaj
_ tail . the structure - and

) What |
tht:oxyd; you Mean by tunica-corp®
.relating to esrcr tbe various theories
In the Stemg OWth ang development
" 3PeX of higher plants-
. K 2+8’10
gl ¢ w5 T
(C) DeSCrlbe in' g B
Erowth ic cRil- aboyt secondary
Deat diagram_ c)tyl“’donous stem with

ﬂﬁmaw 2+8'=lo
: ’ f% [t - .
TR 3y = I_ I8 S s o 3@
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gagametogenesis ? Describ® |

(d) What is apical meristem ? Describe
various theories regarding structure,
growth and development of root apex
of flowering plants. 2+8=10

oy oEw @ o2 AP SRR TR
SEFOIN 519, 3% TR R ST=ICE SIS
TSR 3 | :

() What is cross-pollination ? What are
various forms of it ? Describe each of
them briefly with examples.
| | | 2+2+6=10

irﬁavﬁ‘terczrm%_?*@ﬁﬁ%ﬂ«qmm
& 7 AR e afSth! Bt I [ |

(/’ ‘'What are the components of vascular.
elements ? Describe any one
component of vascular elements.

' 2+8=10
AT TAMFE TARPTR T &2 AR
EW RGP afo Boilenig 3f =t

(g) What is meristematic tissue ? How are
they classified ? Write briefly about
them. - 2+2+6=10
o T4 & 2 TR (afiieem @R 3
= ? Ao [ v foidh
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—_—————

- neat diagramg,

KEIR s B ~ '
<1 o, Wﬁwmww
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, OPTION -B
 Paper : BOT-HG-4026

( Economic Botany and Plant

Biotechnology)

A

Answer the following : (any seven)

WW%@W&(@WWW)

(@)

(b)

()

(d)

known as

1x7=7

Who first proposed the concept of
centre of origin ? ' |

TARA (@mEE TR ARl QU
SeRpIRRE 2

What is the scientific name of
soybean ?

R e A R o

Storage tissue of leguminous seed is

RGO & T (T ——— 51! &l
T |

G1am belongs to which family ?

HIT (A (SaT STEefs 7
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i of 11 | o ic uses of gram
.(e)  Which part of the black pepper plantis (b) Economic uses of gr

edible ? . : CRIESAGRICICEICI R
a @Iﬁas ' : L o
| : TR CINTHT g CARIK oy 2 - - (¢) Embryo culture

] Writé th ' 4 o
R 0 BT © ful; form of RAPD:. o (d) Recombinant DNA technology
i - RAPD i s fary - - _

| ' ' DNA 755 SR (Fie

(99 What is androgenesis ? -

| e fF o . o (e) ‘R_everse transcriptase"
o (h) | vat is. m#:ropropagatlon ? () Morphology of cotton plant
[ THERE & 9 S | FoNZ T SR ~
| () What is DNA marker 2 | (g) Gene therapy
DNA TR fs » - . fém. e
o . ) *
|| S |
. S h) Down syndrome
2l 0} What is hybridoma technology ? ~ " Tien BaIg™
. TEENaReR | | |
5 3. Write short notes on the following : (any
) 2. i i : . . ' =1¢
|- | Write briefly on the following - (any four) three) >x3=15
r Dx4=8 eTe MAPTR €°)F &Y (ORI ¢ (Riczan
e x4 = ) ,
©ET TP esas b fra ¢ i ‘ fefor) .
Chermiont - . ~ (a) Origin and morphology of wheat
(a) €micgl COnStituent of soybean . | | Cz‘l‘—‘-a—a %Qp{% 8 ﬁmﬁ—% ’
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(v)

()

(d)

(e)

(g)

(h)

3 iSem—4/CBCS| BOT Hg

E—

Chemj
1cal 3
constituents and economic

uses of groundny
AT FE
lk: (
FEF a1y % wetafoT TS

I\’Iorphol
O8Y and ygeg of black pepper

‘QR-W

"aﬁ 2 IOgy
37 (< _ﬁﬂ@mﬁ ()ﬂ%;ﬁ

DN
A ﬁngerprlntln

g
DNA ﬁ?ir‘;{-mf‘én?:g

E
A s

ELISA _ gﬁ:mi

1/2,Re/G 19

Answer any three of the

following : :
10x3=30

e 2R izt fofeT o il ¢

(@)

(b)

(c)
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What is meant by centre of origin ?

Write in detal
of cultivated plants.

Serife e e [ 3@l 1 wiftered FH
Sove Sesifed (FTZE S Ga e el

izl

What are legume
legumes with

1 Vavilov’s centre of origin

s ? Write a general

account of special

reference to gram and soybean.

SeEEe W & 2 JouR IR FAIs [
e TeREe T e el

Write the scientific names, families,
parts used and uses of the following :
(i) Clone

(ii) Cotton

TS FAPTES (@@l A9, (o, R SR
CISACIEEE TR

i) R

(i) TAZ
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pathwa | L t
: ys of : . (h) Describe the steps involved 1n- DNA
Write a note on the

- (d) Describe in vitro

androgenes;s,
sequencing.

ﬁgm’ﬁgm"g o :
. ilffm W?W ce R application of DNA .sgguencmg. _ '
| , DNA fBacises afes CIARTR gl ¥
' DNA oz s AR @se G O it

g
a
-
5
&
A
—t+
&
o
o
2.
0
c
o
v
=
oy
o)
—t

. Wri
application £ PCthe about the

" PCR w5t 142
+7=10

; Py ? P
_ mwm & & ? PCRC:

3500
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